Human Resource Management, Global Edition, 13e (Mondy)

Chapter 10  Indirect Financial Compensation (Benefits) and Nonfinancial Compensation

10.1  Multiple-Choice Questions

1) Which of the following best defines Two in a Box?

A) providing two banking services to key customers 

B) requiring applicants to interview with two managers

C) giving two executives the same job and responsibilities

D) requiring two employees to work overtime and weekends

Answer:  C

Explanation:  C) Some companies are giving two executives the same responsibilities and the same title and letting them decide how the work is to be divided (Two in a Box). Unlike job sharing, it is a full-time job for both executives and has some risk for the employer.

Diff: 3

Chapter:  10

Skill:  Concept

LO:  10

2) When a U.S. multinational company is designing a global customized benefits package, it should assume all of the following EXCEPT ________.

A) standardized benefits programs for all employees will achieve key benefits objectives

B) it is essential to determine a global corporate benefits strategy and determine what the company's identity should be

C) the culture of each country will have a major impact on the benefits workers desire

D) U.S. insurance plan designs will not be universally applicable in all countries

Answer:  A

Explanation:  A) Global companies must recognize that a standardized benefits program for all employees may be impractical and unsuccessful in achieving key benefits objectives. 

Diff: 2

Chapter:  10

Skill:  Concept

LO:  10

3) Executives who participate in two in a box most likely benefit from the increased ________.

A) ability to balance work and life

B) ownership in the organization

C) opportunity to travel overseas 

D) reliance on new technology

Answer:  A

Explanation:  A) Two in a box refers to the corporate strategy of giving two executives the same responsibilities and the same title and letting them decide how the work is to be divided. Executives benefit because they have more schedule flexibility, which helps them balance work and family. The executives can share the responsibility of going to meetings and traveling overseas.

Diff: 3

Chapter:  10

Skill:  Concept

LO:  10

4) All financial rewards that are NOT included in direct financial compensation are known as ________.

A) bonuses

B) wages

C) commissions 

D) benefits 

Answer:  D

Explanation:  D) Indirect financial compensations (benefits) include all financial rewards not included in direct financial compensation. Health insurance and life insurance are examples of indirect financial compensation. Bonuses, wages, and commissions are direct financial compensation.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  1

5) In general, why do employees receive benefits from their employer? 

A) organizational membership 

B) employee productivity 

C) corporate performance

D) level of education

Answer:  A

Explanation:  A) As a rule, employees receive benefits because of their membership in the organization. Benefits are typically unrelated to employee productivity, corporate performance, or employee education. 

Diff: 2

Chapter:  10

Skill:  Concept

LO:  1

6) Which of the following is an advantage of voluntary benefits?

A) always less costly for small businesses

B) typically linked to worker productivity

C) usually nontaxable to the employee

D) always government sponsored

Answer:  C

Explanation:  C) Indirect financial compensation has two distinct advantages: (1) it is generally nontaxable to the employee and (2) the cost of some benefits may be much less for large groups of employees than for individuals. 

Diff: 2

Chapter:  10

Skill:  Concept

LO:  1

7) According to the U.S. Bureau of Labor Statistics, indirect financial compensation accounts for approximately ________ of employers' total compensation costs.

A) 10%

B) 30%

C) 50%

D) 70%

Answer:  B

Explanation:  B) According to the U.S. Bureau of Labor Statistics, benefits account for nearly 30 percent of employers' total compensation costs, but over the past decade, the change in benefits costs has outpaced the change in the cost of wages and salaries.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  1

8) Benefits are valuable for all of the following reasons EXCEPT ________. 

A) improving job satisfaction 

B) recruiting new employees 

C) retaining current employees 

D) improving worker productivity

Answer:  D

Explanation:  D) Benefits are typically unrelated to employee productivity, although they may be valuable in recruiting and retaining employees, they do not generally serve as motivation for improved performance. According to a recent SHRM survey, benefits are the second most important driver of job satisfaction. 

Diff: 2

Chapter:  10

Skill:  Concept

LO:  1

9) In most cases, the costs of voluntary benefits are paid by ________. 

A) government agencies

B) state governments

C) employees

D) employers

Answer:  C

Explanation:  C) Voluntary benefits are usually 100 percent paid by the employee, but the employer typically pays the administrative cost. Often a hybrid situation exists in which employers pay a portion of the benefit and the employee pays for additional services.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  1

10) WorldatWork is a professional organization focused on the issue of ________.

A) career development

B) compensation

C) HR planning

D) offshoring

Answer:  B

Explanation:  B) The American Compensation Association is now WorldatWork, the Professional Association for Compensation, Benefits, and Total Rewards. The change reflects the new emphasis on total rewards rather than direct and indirect financial compensation.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  1

11) Everything an employee perceives to be of value resulting from the employment relationship is best known as ________. 

A) global perks

B) total rewards

C) whole wages

D) fringe benefits

Answer:  B

Explanation:  B) The concept of total rewards is about all the ways in which people are rewarded when they come to work—pay, benefits and the other non-financial rewards—put together to make a coherent and integrated whole. Total rewards include training, career development, pay, and work-life balance tools.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  1

12) Mandated benefits currently account for about what percentage of total compensation costs? 

A) 10%

B) 35% 

C) 50%

D) 65%

Answer:  A

Explanation:  A) Employers provide most benefits, but the law requires others. These legally required benefits currently account for about 10 percent of total compensation costs. They include Social Security, unemployment insurance, and workers' compensation.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  2

13) Legally required benefits currently include all of the following EXCEPT ________.

A) Social Security

B) workers' compensation

C) unemployment insurance

D) health insurance coverage

Answer:  D

Explanation:  D) Employers provide most benefits, but the law requires others. These legally required benefits currently account for about 10 percent of total compensation costs. They include Social Security, unemployment insurance, and workers' compensation.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  2

14) What Act created a system of retirement benefits? 

A) Family and Medical Leave Act 

B) Fair Labor Standards Act 

C) Social Security Act 

D) Equal Pay Act 

Answer:  C

Explanation:  C) The Social Security Act of 1935 created a system of retirement benefits. It also established the Social Security Administration. Subsequent amendments to the Act added other forms of protection, such as disability insurance, survivors' benefits, and Medicare.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  2

15) What Act requires employers to share equally with employees the cost of old age, survivors, and disability insurance? 

A) Fair Labor Standards Act 

B) Family and Medical Leave Act 

C) Social Security Act 

D) Benefits and Security Act 

Answer:  C

Explanation:  C) The Social Security Act of 1935 created a system of retirement benefits. Subsequent amendments to the Act added other forms of protection, such as disability insurance, survivors' benefits, and Medicare. Although employees must pay a portion of the cost of Social Security coverage, the employer makes an equal contribution and considers this cost to be a benefit.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  2

16) Thomas is a copy machine technician for State Office Systems. He was involved in a serious car accident while making a service call for his employer, and he cannot return to work for 8 weeks. Which of the following would most likely provide Thomas with income while he is incapacitated? 

A) life insurance

B) worker's compensation

C) direct financial compensation

D) unemployment compensation

Answer:  B

Explanation:  B) Workers' compensation provides a degree of financial protection for employees who incur expenses resulting from job-related accidents or illnesses.

Diff: 2

Chapter:  10

Skill:  Application

LO:  2

17) Which of the following protects employees against an earnings loss when they are totally incapacitated? 

A) unemployment insurance

B) disability insurance

C) paid time off

D) sabbaticals 

Answer:  B

Explanation:  B) Disability insurance protects employees against loss of earnings resulting from total incapacity. Unemployment insurance provides monetary payments to workers whose jobs have been terminated.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  2

18) Margaret's husband, who worked as an accountant, recently died from a heart attack while on vacation. Which of the following would most likely be provided to Margaret?

A) survivors' benefits

B) discretionary benefits

C) unemployment compensation

D) supplemental Medicaid payments

Answer:  A

Explanation:  A) Survivors' benefits are provided to certain members of an employee's family when the employee dies. Discretionary benefits include paid vacations and sick pay. Unemployment insurance provides workers whose jobs have been terminated through no fault of their own. 

Diff: 2

Chapter:  10

Skill:  Application

LO:  2

19) When an employee dies, which of the following would most likely be paid to the employee's family? 

A) disability insurance

B) survivors' benefits

C) unemployment insurance

D) discretionary benefits

Answer:  B

Explanation:  B) Survivors' benefits are provided to certain members of an employee's family when the employee dies. Discretionary benefits include paid vacations and sick pay. Unemployment insurance provides workers whose jobs have been terminated through no fault of their own. 

Diff: 1

Chapter:  10

Skill:  Concept

LO:  2

20) Which of the following would most likely be eligible for Medicare? 

A) Alex, a 35-year-old unemployed mechanic

B) Brenda, a 42-year-old school teacher

C) Charles, a 66-year-old retired realtor

D) Debra, a 21-year-old college student 

Answer:  C

Explanation:  C) Medicare provides hospital and medical insurance protection for individuals 65 years of age and older and for those who have become disabled. Therefore, Charles would most likely be eligible, while the others would not.

Diff: 2

Chapter:  10

Skill:  Application

LO:  2

21) Which of the following provides hospital and medical insurance protection for individuals who are 65 years of age or older? 

A) Medicare

B) HMO

C) Medicaid

D) PPO

Answer:  A

Explanation:  A) Medicare provides hospital and medical insurance protection for individuals 65 years of age and older and for those who have become disabled. HMOs and PPOs are managed health care plans provided by employers.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  2

22) Which of the following pays for Social Security?

A) state and local government 

B) employer and employee

C) employer only 

D) employee only 

Answer:  B

Explanation:  B) Although employees must pay a portion of the cost of Social Security coverage, the employer makes an equal contribution and considers this cost to be a benefit. Approximately 95 percent of the workers in this country pay into and may draw Social Security benefits.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  2

23) What is a significant issue facing the Social Security program? 

A) outsourcing of jobs 

B) retiring baby-boomers

C) growing unemployment rate 

D) rising workers' compensation costs 

Answer:  B

Explanation:  B) The Social Security program currently is running a surplus, but the retirement of the 77-million-member baby-boom generation is looming. Unless Congress makes changes by 2041, the program will have used up its surplus and will no longer be able to pay full benefits. Outsourcing, unemployment, and workers' compensation are less relevant to Social Security.

Diff: 3

Chapter:  10

Skill:  Concept

LO:  2

24) What will be the retirement age in 2027?

A) 65 

B) 66 

C) 67 

D) 68 

Answer:  C

Explanation:  C) The retirement age today is 66. It will increase in 2027, until it reaches age 67. These changes will not affect Medicare, with full eligibility under this program holding at age 65.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  2

25) The current retirement age is ________. 

A) 65

B) 66

C) 67

D) 68

Answer:  B

Explanation:  B) The retirement age today is 66. It will increase in 2027, until it reaches age 67. These changes will not affect Medicare, with full eligibility under this program holding at age 65.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  2

26) Jackie's employer is downsizing to reduce expenses, and Jackie has been informed that she will be laid off. What is the maximum number of weeks that Jackie can receive unemployment compensation?

A) 13 

B) 26 

C) 39 

D) 52 

Answer:  B

Explanation:  B) Unemployment insurance provides workers whose jobs have been terminated through no fault of their own monetary payments for up to 26 weeks or until they find a new job. The intent of unemployment payments is to provide an unemployed worker time to find a new job equivalent to the one lost without suffering financial distress.

Diff: 2

Chapter:  10

Skill:  Application

LO:  2

27) Which of the following pays for unemployment insurance? 

A) state and local governments 

B) employer and employee 

C) employee only 

D) employer only

Answer:  D

Explanation:  D) A payroll tax paid solely by employers funds the unemployment compensation program. Unemployment insurance is based on both federal and state statutes and, although the federal government provides guidelines, the programs are administered by the states and therefore benefits vary by state. 

Diff: 2

Chapter:  10

Skill:  Concept

LO:  2

28) Which of the following is the LEAST likely purpose of unemployment insurance payments? 

A) giving workers time to find equivalent jobs

B) minimizing the number of workers needing welfare

C) continuing worker health benefits to prevent financial distress

D) sustaining consumer spending during difficult economic times

Answer:  C

Explanation:  C) The intent of unemployment payments is to provide an unemployed worker time to find a new job equivalent to the one lost without suffering financial distress. Without this benefit, workers might have to take jobs for which they are overqualified or end up on welfare. Unemployment compensation also serves to sustain consumer spending during periods of economic adjustment. COBRA extends healthcare coverage to unemployed workers, not unemployment insurance.

Diff: 3

Chapter:  10

Skill:  Concept

LO:  2

29) Jack, a construction worker, slipped and fell at a job site. As a result, Jack injured his knee and needs physical therapy and medical care. Jack's medical expenses would most likely be covered by ________.

A) workers' compensation insurance

B) unemployment insurance

C) life insurance

D) Medicaid

Answer:  A

Explanation:  A) Workers' compensation benefits provide a degree of financial protection for employees who incur expenses resulting from job-related accidents or illnesses. Unemployment insurance, life insurance, and Medicaid would not cover Jack's expenses for a work-related injury. 

Diff: 2

Chapter:  10

Skill:  Application

LO:  2

30) Workers' compensation insurance pays for medical expenses related to ________.

A) pre-existing conditions

B) pregnancy complications

C) off-duty accidents

D) job-related illnesses

Answer:  D

Explanation:  D) Workers' compensation benefits provide a degree of financial protection for employees who incur expenses resulting from job-related accidents or illnesses. Workers' compensation would not likely cover pre-existing conditions unless they were job-related.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  2

31) Benefit payments made as a result of unilateral management decisions in nonunion firms and from labor–management negotiations in unionized firms are known as ________. 

A) flexible spending benefits

B) direct financial compensation

C) discretionary benefits

D) workers' compensation

Answer:  C

Explanation:  C) Discretionary benefits are benefit payments made as a result of unilateral management decisions in nonunion firms and from labor–management negotiations in unionized firms. Major categories of discretionary benefits include payment for time not worked, health care, life insurance, retirement plans, employee stock option plans, and employee services.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  3

32) Which of the following is NOT a discretionary benefit? 

A) sabbaticals 

B) health benefits 

C) paid vacations

D) overtime payments 

Answer:  D

Explanation:  D) Discretionary benefits are benefit payments made as a result of unilateral management decisions in nonunion firms and from labor–management negotiations in unionized firms. Sabbaticals, health benefits, and paid vacations are discretionary benefits, but overtime payments are required for nonexempt employees.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  3

33) Workers in which of the following countries take the fewest number of vacation days? 

A) Italy

B) Brazil

C) Canada

D) United States

Answer:  D

Explanation:  D) As compared with other countries, the average of 13 days Americans take annually is small. According to the World Tourism Organization, Italians take 42 days, French take 37 days, and Brazilians take 34 days. Canadians double the number of vacation days per year that are taken in the United States.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  3

34) In most firms, vacation time varies by ________. 

A) performance appraisal results

B) organizational rank

C) education level

D) personal needs

Answer:  B

Explanation:  B) Vacation time may vary with organizational rank. Top earning managers typically receive more vacation days than entry level workers. 

Diff: 2

Chapter:  10

Skill:  Concept

LO:  3

35) Which term refers to a certain number of days each year that employees can use for any purpose?

A) sabbatical

B) paid vacation

C) paid time off 

D) medical leave

Answer:  C

Explanation:  C) Paid time off (PTO) is a certain number of days off provided each year that employees can use for any purpose. With a PTO plan, all the reasons for time off—sick, vacation, and personal days—are grouped together and no one has to lie.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  3

36) Which of the following is LEAST likely to be an advantage of providing paid time off to employees? 

A) simpler administration

B) more job sharing options

C) higher employee satisfaction

D) fewer last minute absences

Answer:  B

Explanation:  B) With a PTO plan, all the reasons for time off—sick, vacation, and personal days—are grouped together and no one has to lie. There are numerous possible benefits for PTO, including simpler administration, fewer carry-over issues, high employee satisfaction, fewer creative excuses for time off, earlier advance notice of time-off needs, fewer last-minute absences, and fewer conflicts about time-off usage. In job sharing, two part-time people split the duties of one job in some agreed-on manner and are paid according to their contributions.

Diff: 3

Chapter:  10

Skill:  Concept

LO:  3

37) Carson Enterprises is considering the idea of replacing personal leave and vacation time with paid time off. Which of the following best supports this decision? 

A) Employees at Carson express satisfaction with the firm's current PPO. 

B) Last minute absences are a significant problem among Carson employees. 

C) Retirement plans held by Carson employees suffered during the recession.

D) Carson employees are given the opportunity to telecommute when needed.

Answer:  B

Explanation:  B) With a PTO plan, all the reasons for time off—sick, vacation, and personal days—are grouped together and no one has to lie. Such plans can have numerous benefits including simpler administration, earlier advance notice of time-off needs, and fewer last-minute absences. PTOs are less relevant to health care plans, retirement plans, or telecommuting.

Diff: 3

Chapter:  10

Skill:  Critical Thinking

LO:  3

38) Which term refers to temporary leaves of absence from an organization, usually at reduced pay?

A) personal leave

B) medical leave

C) paid time off 

D) sabbatical

Answer:  D

Explanation:  D) Sabbaticals are temporary leaves of absence from an organization, usually at reduced pay. Often sabbaticals help to reduce turnover and keep workers from burning out, hopefully returning revitalized and more committed to their work.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  3

39) Carson Enterprises is considering the idea of adding sabbaticals to its discretionary benefits plan. Which of the following best supports this decision? 

A) Numerous employees at Carson have elderly parents who need medical attention.

B) The health and safety record at Carson has been problematic in recent years.

C) Many experienced employees at Carson have quit because of burnout.

D) The majority of Carson employees have small children in daycare.

Answer:  C

Explanation:  C) Sabbaticals are temporary leaves of absence from an organization, usually at reduced pay. Often sabbaticals help to reduce turnover and keep workers from burning out, hopefully returning revitalized and more committed to their work. If the firm has high turnover, sabbaticals may help. 

Diff: 3

Chapter:  10

Skill:  Critical Thinking

LO:  3

AACSB:  Reflective Thinking

40) What type of indirect financial compensation is the most expensive for most businesses?

A) life insurance 

B) health care insurance

C) retirement programs

D) unemployment compensation 

Answer:  B

Explanation:  B) Health care represents the most expensive item in the area of indirect financial compensation. Life insurance, retirement plans, and unemployment compensation are less costly types of indirect financial compensation. 

Diff: 2

Chapter:  10

Skill:  Concept

LO:  3

41) A results-only work environment allows employees to ________.

A) take a specified number of days off each year for any purpose

B) work whenever and wherever they wish, as long as they complete projects on time

C) take temporary leaves of absence from work, usually at reduced pay 

D) take time off to volunteer for worthy causes in their communities 

Answer:  B

Explanation:  B) A results-only work environment allows employees to work whenever and wherever they wish, as long as they complete projects on time.

Diff: 2

Chapter:  10

Skill:  Application

LO:  3

42) Health care benefits represent the most expensive cost in the area of indirect financial compensation. Which of the following is NOT a factor that has combined to create this situation? 

A) shrinking population

B) growing demand for medical care 

C) inefficient administrative processes

D) increasingly expensive medical technology 

Answer:  A

Explanation:  A) A number of factors have combined to create the high cost of health care: an aging population; a growing demand for medical care; increasingly expensive medical technology; and inefficient administrative processes. 

Diff: 3

Chapter:  10

Skill:  Concept

LO:  3

43) Julie has health insurance through her employer. The managed-care health organization used by Julie's employer covers all services for a fixed fee. However, Julie may only use the doctors and health facilities chosen by the managed-care health organization. Julie is most likely a member of a(n) ________. 

A) point-of-service 

B) health maintenance organization

C) preferred provider organization

D) exclusive provider organization

Answer:  B

Explanation:  B) HMOs cover all services for a fixed fee but exercise control over which doctors and health facilities a member may use. PPOs provide incentives for members using services within the system, but out-of-network providers may be used at higher costs.

Diff: 2

Chapter:  10

Skill:  Application

LO:  3

44) If David uses an in-network provider of his employer's managed-care health organization, then he pays lower fees than if he uses an out-of-network provider. David is most likely a member of a(n) ________.

A) HMO

B) POS

C) PPO

D) FSA

Answer:  C

Explanation:  C) Preferred provider organizations (PPOs) are managed-care health organizations in which incentives are provided to members to use services within the system; out-of-network providers may be used at greater cost. HMOs cover all services for a fixed fee but exercise control over which doctors and health facilities a member may use.

Diff: 2

Chapter:  10

Skill:  Application

LO:  3

45) Stephanie, who belongs to a managed-care health organization, is experiencing knee pain and needs to see a specialist. Stephanie must first visit a primary care physician and receive a referral to see a knee specialist. Stephanie has access to out-of-network health care if necessary. Stephanie is most likely a member of a(n) ________. 

A) health maintenance organization

B) exclusive provider organization

C) preferred provider organization

D) point-of-service 

Answer:  D

Explanation:  D) Point-of-service (POS) requires a primary care physician and referrals to see specialists, as with HMOs, but permits out-of-network health care access. HMOs do not pay for out-of-network health care.

Diff: 2

Chapter:  10

Skill:  Application

LO:  3

46) What managed-care health organization offers a smaller PPO provider network and usually provides little, if any, benefits when an out-of-network provider is used? 

A) point-of-service 

B) health maintenance organization

C) preferred provider organization

D) exclusive provider organization

Answer:  D

Explanation:  D) Exclusive provider organizations (EPOs) offer a smaller PPO provider network and usually provides little, if any, benefits when an out-of-network provider is used. Point-of-service (POS) requires a primary care physician and referrals to see specialists, as with HMOs, but permits out-of-network health care access. 

Diff: 1

Chapter:  10

Skill:  Concept

LO:  3

47) Flexible spending accounts and health savings accounts are examples of ________. 

A) consumer-driven health care plans

B) legally required health benefits

C) major medical benefits

D) point of service plans

Answer:  A

Explanation:  A) Consumer-driven health care plans give each employee a set amount of money annually with which to purchase health care coverage which involves high-deductible insurance coverage combined with a tax-advantaged account like a flexible spending account or health savings account. They are a good way for employers to provide the same caliber of benefits to their employees while also reducing premiums and involving employees in the cost of coverage.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  3

48) Which of the following is a tax-free health spending and savings account available to individuals and families with qualified high-deductible health insurance policies? 

A) defined health benefit plan 

B) flexible spending account 

C) health savings account 

D) cash balance plan

Answer:  C

Explanation:  C) Health savings accounts (HSA) are tax-free health spending and savings accounts available to individuals and families who have qualified high-deductible health insurance policies as determined by IRS regulations. A flexible spending account (FSA) is a health benefit plan established by employers that allows employees to deposit a certain portion of their salary into an account (before paying income taxes) to be used for eligible expenses.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  3

49) Which term refers to a benefit plan established by employers that allows employees to deposit a certain portion of their pre-tax salary into an account to be used for eligible expenses?

A) provider account

B) health savings account 

C) flexible spending account

D) defined health benefit account

Answer:  C

Explanation:  C) A flexible spending account (FSA) is a health benefit plan established by employers that allows employees to deposit a certain portion of their salary into an account (before paying income taxes) to be used for eligible expenses. Health savings accounts (HSA) are tax-free health spending and savings accounts available to individuals and families who have qualified high-deductible health insurance policies as determined by IRS regulations.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  3

50) The Patient Protection and Affordable Care Act of 2010 placed a limit of ________ on flexible spending accounts. 

A) $500

B) $2,500

C) $4,500

D) $7,500

Answer:  B

Explanation:  B) Under The Patient Protection and Affordable Care Act of 2010 there is a limit of $2,500 on a flexible spending account. Also, employees will no longer be able to use FSA funds to pay for over-the-counter medications.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  3

51) Howard Paper Company, which employs 1,200 workers, is planning to establish a worksite medical clinic at its manufacturing facility. Which of the following best supports this decision? 

A) Most Howard employees prefer the firm's PPO plan to the HMO option. 

B) Few Howard employees understand how to utilize flexible spending accounts.

C) Vaccinations and minor injuries account for most weekday doctor visits by Howard employees.

D) OSHA investigations reveal that Howard requires most employees to wear protective equipment.

Answer:  C

Explanation:  C) On-site health care assists in treating minor illnesses and injuries, vaccinations, physical therapy, and providing follow-up care. Employers can reduce the number of visits employees make to more costly facilities, such as physicians' offices and hospital emergency rooms. The approach reduces time spent on doctors' visits and recovery, which is why a worksite medical clinic would benefit Howard. 

Diff: 3

Chapter:  10

Skill:  Critical Thinking

LO:  3

AACSB:  Reflective Thinking

52) Which of the following covers extraordinary expenses that result from long-term or serious health problems?

A) medical reduction plans 

B) alternative exploration 

C) major medical benefits 

D) utilization review 

Answer:  C

Explanation:  C) Some plans provide for major medical benefits to cover extraordinary expenses that result from long-term or serious health problems. The use of deductibles is a common feature of medical benefits.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  3

53) What type of insurance is a benefit commonly provided to protect an employee's family in the event of the employee's death? 

A) long-term care 

B) utilization care 

C) group life insurance

D) disability insurance

Answer:  C

Explanation:  C) Group life insurance is a benefit provided to protect the employee's family in the event of his or her death. Although the cost of group life insurance is relatively low, some plans call for the employee to pay part of the premium.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  4

54) What type of retirement plan provides the participant with a fixed benefit upon retirement? 

A) defined contribution 

B) deferred contribution 

C) defined benefit 

D) deferred balance

Answer:  C

Explanation:  C) A defined benefit plan is a formal retirement plan that provides the participant with a fixed benefit upon retirement. A defined contribution plan is a retirement plan that requires specific contributions by an employer to a retirement or savings fund established for the employee.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  4

55) Leroy has a formal retirement plan based on his final years' average salary and years of service at Royce Pharmaceuticals. Which type of plan does Leroy most likely have?

A) defined contribution 

B) defined benefit 

C) cash balance 

D) 401(k) 

Answer:  B

Explanation:  B) A defined benefit plan is a formal retirement plan that provides the participant with a fixed benefit upon retirement. Although defined benefit formulas vary, they are typically based on the participant's final years' average salary and years of service.

Diff: 2

Chapter:  10

Skill:  Application

LO:  4

56) Maura's retirement plan requires her employer to make specific contributions to a retirement fund established for Maura. Which type of plan does Maura most likely have?

A) defined contribution plan

B) deferred contribution plan

C) defined benefit plan

D) deferred salary plan

Answer:  A

Explanation:  A) A defined contribution plan is a retirement plan that requires specific contributions by an employer to a retirement or savings fund established for the employee. A defined benefit plan is a formal retirement plan that provides the participant with a fixed benefit upon retirement.

Diff: 2

Chapter:  10

Skill:  Application

LO:  4

57) A defined contribution plan in which employees may defer income up to a maximum amount allowed is a ________.

A) stock option plan

B) cash balance plan

C) hybrid plan

D) 401(k) plan

Answer:  D

Explanation:  D) A 401(k) plan is a defined contribution plan in which employees may defer income up to a maximum amount allowed. A cash balance plan is a hybrid plan with elements of both defined benefit and defined contribution plans.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  4

58) What type of retirement plan has elements of both defined benefit plans and defined contribution plans? 

A) 401(k) plan 

B) 403(b) plan

C) benefit plan 

D) cash balance plan 

Answer:  D

Explanation:  D) A cash balance plan is a hybrid plan with elements of both defined benefit and defined contribution plans. A 401(k) plan is a defined contribution plan in which employees may defer income up to a maximum amount allowed. 

Diff: 1

Chapter:  10

Skill:  Concept

LO:  4

59) Sharon's employer offers a defined contribution plan. The firm contributes stock shares to a trust in hopes of aligning employee interests with the interest of the firm. Sharon is most likely invested in a(n) ________. 

A) employee stock option plan

B) defined contribution plan 

C) defined benefit plan

D) cash balance plan

Answer:  A

Explanation:  A) An employee stock option plan (ESOP) is a plan in which a firm contributes stock shares to a trust. The trust then allocates the stock to participating employee accounts according to employee earnings. ESOP advocates have promoted employee ownership plans as a means to align the interests of workers and their companies to stimulate productivity.

Diff: 2

Chapter:  10

Skill:  Application

LO:  4

60) A defined contribution plan in which a firm contributes stock shares to a trust is known as a(n) ________. 

A) shift differential

B) voluntary benefits

C) employee stock option plan

D) employee relocation benefits

Answer:  C

Explanation:  C) An employee stock option plan (ESOP) is a plan in which a firm contributes stock shares to a trust. The trust then allocates the stock to participating employee accounts according to employee earnings.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  4

61) Curt has been offered a position with Premium Processing. As part of its benefits package, the firm offers child care, educational assistance, and relocation benefits. Which term best describes the benefits offered by Premium Processing?

A) voluntary benefits

B) cash balance plans

C) employee services

D) disability protection

Answer:  C

Explanation:  C) Organizations offer a variety of benefits that can be termed "employee services." These benefits encompass a number of areas, including child care, educational assistance, food services/subsidized cafeterias, scholarships for dependents, and relocation benefits.

Diff: 2

Chapter:  10

Skill:  Application

LO:  4

62) Educational assistance, subsidized cafeterias, and relocation benefits are examples of ________. 

A) mandatory benefits 

B) employee services

C) severance pay

D) premium pay

Answer:  B

Explanation:  B) Organizations offer a variety of benefits that can be termed "employee services." These benefits encompass a number of areas, including child care, educational assistance, food services/subsidized cafeterias, scholarships for dependents, and relocation benefits.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  4

63) Michael works as an engineer in Arizona, but he has been offered a better position with RayCo, a firm in Minnesota. RayCo will ship the family's belongings to Minnesota and will provide Michael and his family with temporary housing for three months. Which of the following best describes the type of compensation offered by RayCo?

A) flexible spending

B) relocation benefits

C) voluntary benefits

D) premium pay

Answer:  B

Explanation:  B) Relocation benefits are company-paid shipments of household goods and temporary living expenses, covering all or a portion of the real estate costs associated with buying a new home and selling the previously occupied home. Relocation packages vary but most companies will pay for household moving and packing expenses and temporary living expenses for up to six months until the home sells.

Diff: 2

Chapter:  10

Skill:  Application

LO:  4

64) Which term refers to company-paid shipments of household goods and temporary living expenses?

A) unemployment compensation

B) relocation benefits

C) premium payments

D) disability benefits

Answer:  B

Explanation:  B) Relocation benefits are company-paid shipments of household goods and temporary living expenses, covering all or a portion of the real estate costs associated with buying a new home and selling the previously occupied home. Relocation packages vary but most companies will pay for household moving and packing expenses and temporary living expenses for up to six months until the home sells. 

Diff: 1

Chapter:  10

Skill:  Concept

LO:  4

65) Eliot receives overtime compensation when he works on Sundays and holidays in his job as a warehouse manager. Which of the following does Eliot most likely receive?

A) supplemental wages

B) voluntary benefits

C) premium pay

D) spot bonuses

Answer:  C

Explanation:  C) Premium pay is compensation paid to employees for working long periods of time or working under dangerous or undesirable conditions. Some firms voluntarily pay overtime for hours worked beyond eight in a given day and pay double time, or even more, for work on Sundays and holidays.

Diff: 2

Chapter:  10

Skill:  Application

LO:  5

66) Rodrigo is employed as a window washer for multiple skyscrapers in Chicago. Rodrigo receives additional pay for working under extremely dangerous conditions. Rodrigo most likely earns ________.

A) supplemental pay

B) overtime pay

C) premier pay

D) hazard pay

Answer:  D

Explanation:  D) Additional pay provided to employees who work under extremely dangerous conditions is called hazard pay. Window washers of skyscrapers and military pilots often receive hazard pay for their precarious working conditions.

Diff: 2

Chapter:  10

Skill:  Application

LO:  5

67) Sara works from midnight until 8:00 a.m. as a technician at a manufacturing facility and earns an extra $3.00 per hour for the inconvenience. Which of the following does Sara most likely receive? 

A) supplemental wage pay 

B) shift differential pay

C) overtime pay

D) hazard pay 

Answer:  B

Explanation:  B) Sara receives shift differential pay for the inconvenience of working undesirable hours. This type of pay may be provided as additional compensation per hour and is used extensively in the health care practitioners and technical occupations. 

Diff: 2

Chapter:  10

Skill:  Application

LO:  5

68) Additional money paid to an employee for the inconvenience of working undesirable hours is known as ________.

A) overtime pay

B) base pay

C) hazard pay

D) shift differential pay

Answer:  D

Explanation:  D) Shift differential pay is for the inconvenience of working undesirable hours. This type of pay may be provided as additional compensation per hour and is used extensively in the health care practitioners and technical occupations. Additional pay provided to employees who work under extremely dangerous conditions is called hazard pay. 

Diff: 1

Chapter:  10

Skill:  Application

LO:  5

69) Hazard pay and shift differential pay are types of ________. 

A) customized benefits 

B) overtime pay

C) voluntary benefits

D) premium pay

Answer:  D

Explanation:  D) Premium pay is compensation paid to employees for working long periods of time or working under dangerous or undesirable conditions. Additional pay provided to employees who work under extremely dangerous conditions is called hazard pay. Shift differential pay is for the inconvenience of working undesirable hours. 

Diff: 1

Chapter:  10

Skill:  Concept

LO:  5

70) Through her employer, Jillian is able to purchase vision and dental insurance at a reduced rate. Jillian's employer pays any administrative fees. Jillian's employer most likely offers ________. 

A) voluntary benefits

B) customized benefits

C) health savings accounts

D) flexible spending accounts 

Answer:  A

Explanation:  A) As firms search for ways to reduce costs, many organizations are moving to voluntary benefits which are 100 percent paid by the employee but the employer typically pays the administrative cost. Common voluntary benefits include vision insurance, dental insurance, and long-term care insurance.

Diff: 2

Chapter:  10

Skill:  Application

LO:  6

71) Which of the following permits employees to make yearly selections to largely determine their compensation package by choosing between taxable cash and numerous benefits?

A) employee stock option plans 

B) customized benefit plans

C) health savings accounts

D) flexible spending plans

Answer:  B

Explanation:  B) Customized benefit plans permit employees to make yearly selections to largely determine their benefit package by choosing between taxable cash and numerous benefits. Customized plans permit flexibility in allowing each employee to determine the compensation components that best satisfy his or her particular needs.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  7

72) Which law gives employees the opportunity to temporarily continue their health insurance coverage if they are terminated from their job? 

A) Health Insurance Portability and Accountability Act 

B) Consolidated Omnibus Budget Reconciliation Act 

C) Americans with Disabilities Act 

D) Rehabilitation Act 

Answer:  B

Explanation:  B) The Consolidated Omnibus Budget Reconciliation Act (COBRA) of 1985 was enacted to give employees the opportunity to temporarily continue their coverage, which they would otherwise lose because of termination, layoff, or other changes in employment status. The Health Insurance Portability and Accountability Act (HIPAA) of 1996 provide protection for Americans who move from one job to another, who are self-employed, or who have preexisting medical conditions.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  4

73) Jeff lost his job in November 2010. According to COBRA, Jeff may keep his employer's health care coverage until ________.

A) December 2010

B) May 2011

C) November 2011 

D) May 2012 

Answer:  D

Explanation:  D) Under COBRA, individuals may keep their coverage, as well as coverage for their spouses and dependents, for up to 18 months after their employment ceases. The individual, however, must pay for this health insurance, and it is expensive.

Diff: 3

Chapter:  10

Skill:  Application

LO:  4

74) Which law provides protection for workers who are self-employed or move from one job to another? 

A) Health Insurance Portability and Accountability Act 

B) Consolidated Omnibus Budget Reconciliation Act 

C) Americans with Disabilities Act 

D) Rehabilitation Act 

Answer:  A

Explanation:  A) The Health Insurance Portability and Accountability Act (HIPAA) of 1996 provides protection for Americans who move from one job to another, who are self-employed, or who have preexisting medical conditions. The Consolidated Omnibus Budget Reconciliation Act (COBRA) of 1985 was enacted to give employees the opportunity to temporarily continue their coverage, which they would otherwise lose because of termination, layoff, or other changes in employment status. 

Diff: 2

Chapter:  10

Skill:  Concept

LO:  4

75) Anne, who has a preexisting medical condition, recently changed jobs. Which legislation was passed to protect individuals such as Anne? 

A) Patient Protection and Affordable Care Act

B) Family and Medical Leave Act 

C) Health Insurance Portability and Accountability Act 

D) Consolidated Omnibus Budget Reconciliation Act 

Answer:  C

Explanation:  C) The Health Insurance Portability and Accountability Act (HIPAA) of 1996 provides protection for Americans who move from one job to another, who are self-employed, or who have preexisting medical conditions. The Consolidated Omnibus Budget Reconciliation Act (COBRA) of 1985 was enacted to give employees the opportunity to temporarily continue their coverage, which they would otherwise lose because of termination, layoff, or other changes in employment status. 

Diff: 2

Chapter:  10

Skill:  Application

LO:  4

76) The primary reason for enacting ERISA was to ________. 

A) force insurance companies to accept workers with preexisting medical conditions

B) extend long-term healthcare coverage to unemployed individuals 

C) require employers to create employee retirement plans

D) strengthen current and future retirement programs

Answer:  D

Explanation:  D) The Employee Retirement Income Security Act (ERISA) of 1974 strengthens existing and future retirement programs. Mismanagement of retirement funds was the primary spur for this legislation.

Diff: 3

Chapter:  10

Skill:  Concept

LO:  4

77) The intent of which Act is to ensure that when employees retire, they receive deserved pensions? 

A) Health Insurance Portability and Accountability Act 

B) Consolidated Omnibus Budget Reconciliation Act 

C) Older Workers Benefit Protection Act

D) Employee Retirement Income Security Act 

Answer:  D

Explanation:  D) The Employee Retirement Income Security Act (ERISA) of 1974 strengthens existing and future retirement programs. Mismanagement of retirement funds was the primary spur for this legislation that intends to protect employee pensions.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  4

78) Which Act is a 1990 amendment to the ADEA and extends its coverage to all employee benefits? 

A) Health Insurance Portability and Accountability Act 

B) Consolidated Omnibus Budget Reconciliation Act 

C) Older Workers Benefit Protection Act 

D) Employee Retirement Income Security Act 

Answer:  C

Explanation:  C) The Older Workers Benefit Protection Act of 1990 (OWBPA), an amendment to the Age Discrimination in Employment Act, prohibits discrimination in the administration of benefits on the basis of age, but also permits early retirement incentive plans as long as they are voluntary.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  4

79) Which law prohibits discrimination in the administration of benefits on the basis of age, but also permits early retirement incentive plans as long as they are voluntary? 

A) Rehabilitation Act 

B) Civil Rights Act of 1964 

C) Age Discrimination Act 

D) Older Workers Benefit Protection Act 

Answer:  D

Explanation:  D) The Older Workers Benefit Protection Act of 1990 (OWBPA), an amendment to the Age Discrimination in Employment Act, prohibits discrimination in the administration of benefits on the basis of age, but also permits early retirement incentive plans as long as they are voluntary.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  4

80) Which of the following employers must comply with the Family and Medical Leave Act? 

A) Rand Automotive, 24 employees 

B) Compton Electronics, 47 employees 

C) McKnight Publishing, 82 employees 

D) all of the above 

Answer:  C

Explanation:  C) The Family and Medical Leave Act (FMLA) of 1993 applies to private employers with 50 or more employees and to all governmental employers regardless of number. Therefore, only McKnight Publishing would be required to comply with FMLA guidelines.

Diff: 2

Chapter:  10

Skill:  Application

LO:  4

81) Which Act provides employees up to 12 weeks a year of unpaid leave in specified situations? 

A) Social Security Act 

B) Family and Medical Leave Act 

C) Fair Labor Standards Act 

D) Patient Protection and Affordable Care Act

Answer:  B

Explanation:  B) The Family and Medical Leave Act (FMLA) of 1993 applies to private employers with 50 or more employees and to all governmental employers regardless of number. The FMLA provides employees up to 12 weeks a year of unpaid leave in specified situations.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  4

82) Which Act contains a variety of provisions designed to strengthen the funding rules for defined benefit pension plans? 

A) Older Workers Benefit Protection Act 

B) Civil Rights Act of 1964 

C) Pension Protection Act 

D) Rehabilitation Act 

Answer:  C

Explanation:  C) The Pension Protection Act (PPA) of 2006 contains a variety of provisions designed to strengthen the funding rules for defined benefit pension plans. The bill seeks to ensure that employers make greater contributions to their pension funds.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  4

83) All of the following are true about the Patient Protection and Affordable Care Act of 2010 EXCEPT that ________. 

A) individuals cannot be denied health insurance because of a pre-existing condition 

B) insurance companies cannot cancel a policy if the insured becomes sick

C) individuals who do not purchase health insurance will be fined

D) children over 21 cannot remain on their parents' policy

Answer:  D

Explanation:  D) According to the Patient Protection and Affordable Care Act of 2010, individuals must purchase health insurance or risk being fined; children can stay on their parents' policy until they are 26 years old; insurance companies cannot cancel a policy if the insured gets sick; and a person cannot be denied insurance simply because they have a pre-existing health condition.

Diff: 3

Chapter:  10

Skill:  Concept

LO:  4

84) The satisfaction that a person receives from the job itself or from the psychological and/or physical environment in which he or she works is called ________.

A) nonfinancial compensation

B) intellectual stimulation

C) psychic compensation

D) work-life balance

Answer:  A

Explanation:  A) Nonfinancial compensation consists of the satisfaction that a person receives from the job itself or from the psychological and/or physical environment in which the person works. The components of nonfinancial compensation consist of the job itself and the job environment.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  8

85) What are the two components of nonfinancial compensation? 

A) job and salary 

B) job and job environment

C) salary and job environment

D) premium pay and job schedule 

Answer:  B

Explanation:  B) The components of nonfinancial compensation consist of the job itself and the job environment. Salary and premium pay are financial compensations.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  8

86) Steve is employed as an accounts manager at an advertising agency. Steve has been offered a similar position at another firm for an equivalent salary and benefits package. When making his decision, Steve should focus primarily on nonfinancial compensation factors. Which of the following questions is LEAST relevant to Steve's decision to remain at his current job?

A) Is the job meaningful and challenging?

B) Is the employee stock option plan risky?

C) Is there a possibility for increased responsibility?

D) Is there an opportunity for growth and achievement?

Answer:  B

Explanation:  B) A stock option plan is a type of financial compensation, so it is less relevant to nonfinancial compensation factors. Steve needs to consider whether his current job is challenging and whether it will allow him to advance and grow.

Diff: 3

Chapter:  10

Skill:  Critical Thinking

LO:  8

87) Which of the following is a job environment factor that is part of a total compensation package? 

A) sound policies 

B) working conditions

C) congenial co-workers 

D) all of the above 

Answer:  D

Explanation:  D) Policies, working conditions, and co-workers are elements of the job environment that serve as nonfinancial compensation factors. For a job to be satisfactory, the physical environment, practices, and people need to be satisfactory as well.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  8

88) Policies that improve the job environment for employees will most likely ________. 

A) encourage high standards

B) establish arbitrary rules

C) require little documentation

D) restrict creative activities

Answer:  A

Explanation:  A) If a firm's policies show consideration rather than disrespect, fear, doubt, or lack of confidence, the result can be rewarding to both the employees and the organization. Policies that are arbitrary and too restrictive alienate people, but policies that encourage high standards are beneficial.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  9

89) Which term refers to organizational rewards such as office location, desk size, and job title?

A) intangible rewards 

B) perquisites

C) status symbols 

D) motivators 

Answer:  C

Explanation:  C) Status symbols are organizational rewards that take many forms such as office size and location, desk size and quality, how close one's private parking space is to the office, floor covering, and job title. Perks are limited to key executives and include limousines and company cars.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  9

90) All of the following are used by firms to assist employees with achieving a work-life balance EXCEPT ________. 

A) job sharing

B) telecommuting

C) job enlarging

D) compressed workweeks

Answer:  C

Explanation:  C) For employers, creating a balanced work–life environment can be a key strategic factor in attracting and retaining the most talented employees, so many firms offer flextime, a compressed workweek, job sharing, and telecommuting. Job enlarging involves increasing an employee's tasks, so it does not increase a worker's time flexibility.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  10

91) Max, a newspaper photographer, is allowed to choose his own working hours, within certain limitations. Which of the following is most likely offered by Max's employer? 

A) telecommuting

B) job sharing

C) part-time work

D) flextime

Answer:  D

Explanation:  D) Flextime is the practice of permitting employees to choose their own working hours, within certain limitations. In job sharing, two part-time people split the duties of one job in some agreed-on manner and are paid according to their contributions.

Diff: 2

Chapter:  10

Skill:  Application

LO:  10

92) In a flextime system, core time is when ________.

A) employees may vary their schedules 

B) employees must report to meetings

C) all employees must be present 

D) all employees change shifts

Answer:  C

Explanation:  C) In a flextime system, employees typically work the same number of hours per day as they would on a standard schedule. However, they work these hours within what is called a bandwidth, which is the maximum length of the workday. Core time is that part of the day when all employees must be present. Flexible time is the period within which employees may vary their schedules.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  10

93) An employee who works four 10-hour days is most likely working under which of the following arrangements?

A) flextime

B) telecommuting

C) compressed work week

D) executive job sharing plan

Answer:  C

Explanation:  C) The compressed work week is an arrangement of work hours that permits employees to fulfill their work obligation in fewer days than the typical five-day, eight-hour-a-day, work week. A common compressed work week is four 10-hour days. In a flextime system, employees typically work the same number of hours per day as they would on a standard schedule. 

Diff: 2

Chapter:  10

Skill:  Concept

LO:  10

94) Which of the following most likely attracts people who want to work fewer than forty hours per week?

A) flextime

B) job sharing

C) telecommuting

D) compressed work week

Answer:  B

Explanation:  B) Job sharing is an approach to work that is attractive to people who want to work fewer than 40 hours per week. In job sharing, two part-time people split the duties of one job in some agreed-on manner and are paid according to their contributions.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  10

95) If two part-time people split the duties of one job and are paid according to their contributions then they are most likely participating in ________.

A) succession planning

B) flexible sharing 

C) telecommuting

D) job sharing 

Answer:  D

Explanation:  D) In job sharing, two part-time people split the duties of one job in some agreed-on manner and are paid according to their contributions.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  10

96) A work arrangement whereby employees are able to remain at home and perform their work using computers that connect them with their offices is referred to as ________.

A) gainsharing

B) broadbanding

C) job sharing

D) telecommuting

Answer:  D

Explanation:  D) Telecommuting is a work arrangement whereby employees are able to remain at home (or otherwise away from the office) and perform their work using computers and other electronic devices that connect them with their offices.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  10

97) Which of the following jobs is most appropriate for telecommuting? 

A) machine operator

B) college professor

C) computer programmer

D) sales representative

Answer:  C

Explanation:  C) Telecommuters generally are information workers. They accomplish jobs that require, for example, analysis, research, writing, budgeting, data entry, or computer programming. Teleworkers also include illustrators, loan executives, architects, attorneys, and publishers.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  10

98) Which of the following is most likely an advantage of allowing employees to telecommute?

A) decreased cost of health insurance coverage 

B) improved manager-employee relationships

C) decreased need for office space

D) improved team building

Answer:  C

Explanation:  C) One advantage of telecommuting is that it eliminates the need for office space. However, telecommuting may weaken the ties between employees and their firms and between employees and their co-workers. Telecommuting has little effect on health benefits. 

Diff: 3

Chapter:  10

Skill:  Concept

LO:  10

99) Which of the following scenarios is most likely the result of the recent recession?

A) many baby boomers are using part-time work as a way to ease into retirement

B) many people are working part-time because they have not been able to find full-time jobs

C) part-time work is attractive to Millennials who are seeking a better work-life balance

D) part-time work is allowing educated professionals to address both job and personal needs

Answer:  B

Explanation:  B) The recent recession caused many workers to take part-time jobs because they could not find full-time ones. In March 2010, the underemployed rate was 20.3 percent.

Diff: 3

Chapter:  10

Skill:  Concept

LO:  11

100) Which of the following is the LEAST likely advantage to firms that offer part-time employment?

A) reduced nonfinancial compensation

B) improved work-life balance

C) reduced worker turnover

D) improved productivity

Answer:  A

Explanation:  A) Firms that offer part-time employment are meeting the demands of workers who want a better work-life balance. Companies that offer part-time employment show increased rates of productivity and less employee turnover than other companies. Although financial compensation would decrease, nonfinancial compensation is less likely to change.

Diff: 3

Chapter:  10

Skill:  Concept

LO:  10

10.2  True/False Questions

1) Surveys indicate that benefits and job security are the most important factors in job satisfaction. 

Answer:  TRUE

Explanation:  According to a recent SHRM survey, benefits are the second most important driver of job satisfaction, coming in just behind job security. 

Diff: 2

Chapter:  10

Skill:  Concept

LO:  1

2) As a rule, employees receive benefits because of their productivity in an organization. 

Answer:  FALSE

Explanation:  As a rule, employees receive benefits because of their membership in the organization. Benefits are typically unrelated to employee productivity; therefore, although they may be valuable in recruiting and retaining employees, they do not generally serve as motivation for improved performance.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  1

3) Benefits do not generally serve as motivation for improved performance.

Answer:  TRUE

Explanation:  As a rule, employees receive benefits because of their membership in the organization. Benefits are typically unrelated to employee productivity; therefore, although they may be valuable in recruiting and retaining employees, they do not generally serve as motivation for improved performance.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  1

4) The legally required benefits of Social Security, unemployment insurance, and workers' compensation account for over 30 percent of total compensation costs. 

Answer:  FALSE

Explanation:  Employers provide most benefits, but the law requires others. These legally required benefits currently account for about 10 percent of total compensation costs. They include Social Security, unemployment insurance, and workers' compensation.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  1

5) The Social Security Act of 1935 created a system of retirement benefits.

Answer:  TRUE

Explanation:  The Social Security Act of 1935 created a system of retirement benefits. It also established the Social Security Administration.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  2

6) Disability insurance, survivors' benefits, Medicare, and unemployment insurance are provided by and administered by the Social Security Administration. 

Answer:  FALSE

Explanation:  The Social Security Administration oversees disability insurance, survivors' benefits, and Medicare. Unemployment insurance is based on both federal and state statutes and, although the federal government provides guidelines, the programs are administered by the states rather than the SSA.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  2

7) Unemployment insurance provides workers whose jobs have been terminated through no fault of their own, monetary payments for up to 26 weeks. 

Answer:  TRUE

Explanation:  Unemployment insurance provides workers whose jobs have been terminated through no fault of their own monetary payments for up to 26 weeks or until they find a new job. The intent of unemployment payments is to provide an unemployed worker time to find a new job equivalent to the one lost without suffering financial distress.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  2

8) Individual states administer both unemployment insurance and workers' compensation benefits. 

Answer:  TRUE

Explanation:  As with unemployment compensation, the various states administer individual programs, with oversight from the U.S. Department of Labor.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  2

9) The Family and Medical Leave Act apply to private employers with 30 or more employees and to all governmental employers regardless of number. 

Answer:  FALSE

Explanation:  The Family and Medical Leave Act (FMLA) of 1993 applies to private employers with 50 or more employees and to all governmental employers regardless of number.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  4

10) A growing number of companies are replacing sick leave and vacation time with paid time off to simplify administration. 

Answer:  TRUE

Explanation:  In lieu of sick leave, vacation time, and a personal day or two, a growing number of companies are providing paid time off (PTO), a certain number of days off provided each year that employees can use for any purpose. There are numerous possible benefits for PTO, including simpler administration, fewer carry-over issues, high employee satisfaction, and fewer creative excuses for time off.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  3

11) Sabbaticals are temporary leaves of absence from an organization, usually at a reduced amount of pay. 

Answer:  TRUE

Explanation:  Sabbaticals are temporary leaves of absence from an organization, usually at reduced pay. Although sabbaticals have been used for years in the academic community, they have only recently entered the private sector.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  3

12) According to the Fair Labor Standards Act, firms are required to give employees a 10 minute rest break every four hours. 

Answer:  FALSE

Explanation:  The Fair Labor Standards Act does not require employers to give workers a rest break, and only 10 states require it to be given. Usually the break mandated is 10 minutes for every four hours worked.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  3

13) The aging population and inefficient administrative processes have been factors in the rising cost of health care. 

Answer:  TRUE

Explanation:  A number of factors have combined to create the high cost of health care including an aging population, a growing demand for medical care, increasingly expensive medical technology, and inefficient administrative processes.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  3

14) Health maintenance organizations cover all services for a fixed fee but control is exercised over which doctors and health facilities a member may use. 

Answer:  TRUE

Explanation:  Health maintenance organizations (HMOs) cover all services for a fixed fee but exercise control over which doctors and health facilities a member may use.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  3

15) Point-of-service plans require members to obtain specialist referrals from primary care physicians.

Answer:  TRUE

Explanation:  Preferred provider organizations are managed-care health organizations in which incentives are provided to members to use services within the system; out-of-network providers may be used at greater cost.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  3

16) Health maintenance organizations offer a smaller PPO provider network and usually provide little, if any, benefits when an out-of-network provider is used. 

Answer:  FALSE

Explanation:  Exclusive provider organizations (EPOs) offer a smaller PPO provider network and usually provide little, if any, benefits when an out-of-network provider is used. Health maintenance organizations (HMOs) cover all services for a fixed fee but exercise control over which doctors and health facilities a member may use.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  3

17) With a health savings account, an employee can set aside an unlimited amount of pretax funds to pay for medical expenses. 

Answer:  FALSE

Explanation:  HSAs let workers put up to $6,150 a year in a pretax account that they can tap for medical expenses. Individuals deposit money on a pretax basis to pay for doctor visits, prescriptions, and other expenses, as well as to save for future medical expenses and build savings long-term.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  3

18) A primary disadvantage of flexible spending accounts is the requirement regarding the submission of receipts for reimbursement purposes. 

Answer:  FALSE

Explanation:  With FSAs, there is no requirement to submit receipts for reimbursement. Instead, your purchase is deducted from the balance in the account.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  3

19) Money deposited into FSAs can be rolled over into the next year, while HSA funds left over at the end of the year are forfeited. 

Answer:  FALSE

Explanation:  A disadvantage of an FSA is that generally, employees forfeit any amounts left unspent in the accounts at year-end. However, any amount in an HSA left over at the end of the year may be used to pay medical expenses in future years.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  3

20) On-site healthcare is a benefit offered by many firms that serves to curb health care costs and improve employee productivity.

Answer:  TRUE

Explanation:  On-site health care is one way of curbing health care costs and also providing an employee benefit. Employers can reduce the number of visits employees make to more costly facilities, and employees are less likely to leave work to take care of minor injuries and illnesses.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  3

21) A defined benefit plan is a formal retirement plan that provides the participant with a fixed benefit upon retirement. 

Answer:  TRUE

Explanation:  A defined benefit plan is a formal retirement plan that provides the participant with a fixed benefit upon retirement. Although defined benefit formulas vary, they are typically based on the participant's final years' average salary and years of service.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  4

22) The concept of total rewards encompasses all the ways in which people are rewarded when they come to work.

Answer:  TRUE

Explanation:  Total rewards is about all the ways in which people are rewarded when they come to work–pay, benefits, and the other nonfinancial rewards (psychological and/or physical environment factors).

Diff: 2

Chapter:  10

Skill:  Concept

LO:  2

23) A defined contribution plan requires specific contributions by an employer to an employee's retirement or savings fund.

Answer:  TRUE

Explanation:  A defined contribution plan is a retirement plan that requires specific contributions by an employer to a retirement or savings fund established for the employee. The majority of Fortune 100 companies now offer new salaried employees only a defined contribution plan.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  4

24) A 401(k) plan is a defined benefit plan in which employees may defer income up to a maximum amount allowed. 

Answer:  FALSE

Explanation:  A 401(k) plan is a defined contribution plan in which employees may defer income up to a maximum amount allowed. A defined benefit plan is a formal retirement plan that provides the participant with a fixed benefit upon retirement.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  4

25) The 2008/2010 recession caused 401(k) balances to fall sharply and firms to reduce or eliminate 401(k) matching plans. 

Answer:  TRUE

Explanation:  The recent recession was not kind to 401(k) accounts. Some firms reduced or eliminated their matches to accounts. As the economy improved, employers began reinstating their matching contributions, usually at the same level, but sometimes higher or lower than the original match.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  4

26) A cash balance plan is a hybrid retirement fund with elements of both defined benefit and defined contribution plans. 

Answer:  TRUE

Explanation:  For some organizations, a hybrid fund may be the desired approach to retirement plans. A cash balance plan is a plan with elements of both defined benefit and defined contribution plans.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  4

27) Employee stock option plans, which are limited to key executives, allow employees to sell shares prior to retirement. 

Answer:  FALSE

Explanation:  ESOPs were long reserved for executives, but now they are often offered to employees working at lower levels in the firm. Although the potential benefits of ESOPs are attractive, some employees want the ability to sell their shares prior to retirement, which ESOPs do not allow.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  4

28) Most advocates of ESOPs appreciate the stability of these retirement plans, as shown during the recession of 2008/2010.

Answer:  FALSE

Explanation:  Many people do not want to take the chance that the stock is going to be less valuable when they retire. Periods of wild rides in the stock market, such as with the recession of 2008/10, also dampen worker enthusiasm for ESOPs.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  4

29) Company child care arrangements have been linked to reduced absenteeism and enhanced retention and recruiting. 

Answer:  TRUE

Explanation:  Company child-care arrangements tend to reduce absenteeism, protect employee productivity, enhance retention and recruiting, promote the advancement of women, and make the firm an employer of choice. According to the National Conference of State Legislatures, an estimated 80 percent of employees miss work due to unexpected child-care coverage issues.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  4

30) Internal Revenue Service regulations allow for educational assistance benefits to be non-taxable up to $10,000 per year. 

Answer:  FALSE

Explanation:  Educational assistance plans can go a long way in improving employee retention. Internal Revenue Service regulations allow for educational assistance benefits to be nontaxable up to $5,250 per year, although the average educational reimbursement by employers is $1,600 per year.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  4

31) Most firms that offer food services hope to enhance employee morale and increase worker productivity. 

Answer:  TRUE

Explanation:  Firms that supply food services or subsidized cafeterias hope to increase productivity, minimize wasted time, enhance employee morale, and develop a healthier workforce. 

Diff: 1

Chapter:  10

Skill:  Concept

LO:  4

32) Additional pay provided to employees who work under extremely dangerous conditions is called hazard pay. 

Answer:  TRUE

Explanation:  Additional pay provided to employees who work under extremely dangerous conditions is called hazard pay. A window washer for skyscrapers in New York City might receive extra compensation because of the precarious working conditions.

Diff: 1

Chapter:  10

Skill:  Concept

LO:  5

33) COBRA gives employees the opportunity to temporarily continue their health insurance coverage after a termination or layoff.

Answer:  TRUE

Explanation:  The Consolidated Omnibus Budget Reconciliation Act (COBRA) of 1985 was enacted to give employees the opportunity to temporarily continue their coverage, which they would otherwise lose because of termination, layoff, or other changes in employment status. The Act applies to employers with 20 or more employees.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  4

34) The Health Insurance Portability and Accountability Act includes a regulation designed to protect the privacy of personal health information.

Answer:  TRUE

Explanation:  The Health Insurance Portability and Accountability Act (HIPAA) of 1996 provides protection for Americans who move from one job to another, who are self-employed, or who have preexisting medical conditions. As an element of HIPAA, there is now a regulation designed to protect the privacy of personal health information.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  4

35) The Employee Retirement Income Security Act requires employers to create and fund employee retirement plans and sets vesting standards. 

Answer:  FALSE

Explanation:  ERISA does not force employers to create employee retirement plans. It does set standards in the areas of participation, vesting of benefits, and funding for existing and new plans. 

Diff: 2

Chapter:  10

Skill:  Concept

LO:  4

36) Nonfinancial compensation factors such as capable managers and congenial co-workers can increase employee satisfaction. 

Answer:  TRUE

Explanation:  A job's physical environment is a nonfinancial compensation factor and includes sound policies, capable managers, and friendly co-workers.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  9

37) Flextime is the practice of permitting employees to choose their own working hours, within certain limitations. 

Answer:  TRUE

Explanation:  Flextime is the practice of permitting employees to choose their own working hours, within certain limitations. With flextime, workers usually work the same number of hours per day as with a standard schedule. 

Diff: 1

Chapter:  10

Skill:  Concept

LO:  10

38) Employees on a compressed work week split the duties of one job and work less than forty hours a week.

Answer:  FALSE

Explanation:  The compressed work week is an arrangement of work hours that permits employees to fulfill their work obligation in fewer days than the typical five-day, eight-hour-a-day, work week. In job sharing, two part-time people split the duties of one job in some agreed-on manner and are paid according to their contributions.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  10

39) Telecommuting is limited to information workers because jobs in the fields of banking and architecture require employees to work in a corporate office. 

Answer:  FALSE

Explanation:  Telecommuters generally are information workers. They accomplish jobs that require, for example, analysis, research, writing, budgeting, data entry, or computer programming. Teleworkers also include illustrators, loan executives, architects, attorneys, and publishers.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  10

40) Firms that offer part-time employment opportunities are shown to benefit from improved worker productivity and reduced employee turnover. 

Answer:  TRUE

Explanation:  Companies that offer part-time employment show increased rates of productivity and less employee turnover than other companies. Part-time employment adds many highly qualified individuals to the labor market by permitting employees to address both job and personal needs.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  10

10.3  Essay Questions

1) What are the advantages and disadvantages of offering sabbaticals to employees? 

Answer:  Sabbaticals are temporary leaves of absence from an organization, usually at reduced pay. Although sabbaticals have been used for years in the academic community, they have only recently entered the private sector. Often sabbaticals help to reduce turnover and keep workers from burning out, hopefully returning revitalized and more committed to their work. Sabbaticals are not without its challenges. Overachievers may experience difficulty in letting go of their work and worry about their job if they are gone for extended periods. Then there is the problem of scheduling who will take up the slack while the person on sabbatical is gone. But, most organizations using sabbaticals have discovered that the benefits outweigh the challenges.

Diff: 3

Chapter:  10

Skill:  Critical Thinking

LO:  3

2) What is a consumer-driven health care plan? How do they benefit employers?

Answer:  Companies are increasingly placing the responsibility for health care responsibility on employees. Consumer-driven plans give each employee a set amount of money annually with which to purchase health care coverage which involves high-deductible insurance coverage combined with a tax-advantaged account like a flexible saving account (FSA) or health saving account (HRA). They are a good way for employers to provide the same caliber of benefits to their employees while also reducing premiums and involving employees in the cost of coverage. If patients pay for health care services in "cash" (using pre-tax funds in a HSA or a FSA, for instance), providers will not be subject to the same lengthy, burdensome payments cycle. 

Diff: 3

Chapter:  10

Skill:  Critical Thinking

LO:  3

3) How does the competency level of managers and co-workers affect the job environment and employee job satisfaction?

Answer:  Anyone who has worked under a manager who does not possess the skills needed to successfully lead the unit understands the importance of having a capable individual in charge. Many workers quit their jobs because of the way the unit is being managed. Just being around an incompetent boss every day may provide the motivation to call in sick when you are not ill. There may be the autocratic manager who only wants it done his or her way. Then, there is the manager who can seemingly never make a decision. There are endless examples of supervisors who are incapable of performing their jobs, thus making the job environment of their employees less than desirable. Working with individuals who are capable and knowledgeable can often create a synergistic environment. Synergism is the cooperative action of two or more persons working together to accomplish more than they could working separately. Synergy implies the possibility of accomplishing tasks that could not even be done by people working separately. Solving problems together is often exhilarating when a co-worker is also competent. 

Diff: 3

Chapter:  10

Skill:  Critical Thinking

LO:  9

4) What is indirect financial compensation? What are the three types of indirect financial compensation provided by most employers? Give examples of each type to illustrate your answer.

Answer:  Indirect financial compensations (benefits) include all financial rewards not included in direct financial compensation. Legislation mandates some benefits, such as Social Security, unemployment insurance, and workers' compensation. Discretionary benefits are benefit payments made as a result of unilateral management decisions in nonunion firms and from labor–management negotiations in unionized firms. Major categories of discretionary benefits include payment for time not worked, health care, life insurance, retirement plans, employee stock option plans, and employee services. Voluntary benefits, on the other hand, are usually 100 percent paid by the employee but the employer typically pays the administrative cost. The most common voluntary products provided include term life insurance, vision insurance, long-term care insurance, long-term disability insurance, accident insurance, and dental insurance.

Diff: 3

Chapter:  10

Skill:  Synthesis

LO:  1

5) How has federal legislation affected the benefits employees receive? Provide specific examples of laws and their effects in your response.

Answer:  Employers provide most benefits, but the law requires others. Legally required benefits include Social Security, unemployment insurance, and workers' compensation. The Consolidated Omnibus Budget Reconciliation Act (COBRA) of 1985 was enacted to give employees the opportunity to temporarily continue their coverage, which they would otherwise lose because of termination, layoff, or other changes in employment status. The Health Insurance Portability and Accountability Act (HIPAA) of 1996 provides protection for Americans who move from one job to another, who are self-employed, or who have preexisting medical conditions. The Employee Retirement Income Security Act (ERISA) of 1974 strengthens existing and future retirement programs. The Older Workers Benefit Protection Act of 1990 (OWBPA) prohibits discrimination in the administration of benefits on the basis of age, but also permits early retirement incentive plans as long as they are voluntary. The Family and Medical Leave Act (FMLA) provides employees up to 12 weeks a year of unpaid leave in specified situations.

Diff: 3

Chapter:  10

Skill:  Synthesis

LO:  3

6) In a short essay, explain the concept of total rewards. 

Answer:  Historically, compensation practitioners focused primarily on direct financial compensation and indirect financial compensation (benefits). However, this approach has expanded into the concept of total rewards, and the emphasis is now more encompassing. Total rewards is about all the ways in which people are rewarded when they come to work–pay, benefits, and the other nonfinancial rewards (psychological and/or physical environment factors). Managers today should consider a broad rewarding work environment and not just focus on pay and benefits plans. The definition of compensation goes beyond money and benefits and looks at learning and development, including career development, and the work environment. Everything included in the total reward package is directed toward maximum attainment of corporate goals.

Diff: 2

Chapter:  10

Skill:  Concept

LO:  1

7) With a heterogeneous workforce, employers are having to be more flexible. How are employers using customized benefits plans and flextime to meet the needs of today's employees?

Answer:  Customized benefit plans permit employees to make yearly selections to largely determine their benefit package by choosing between taxable cash and numerous benefits. With four generations of workers now in a workplace, customization and flexibility become very important in developing a benefits package that meets the needs of everyone. Workers have considerable latitude in determining how much they will take in the form of salary, life insurance, pension contributions, and other benefits. Customized plans permit flexibility in allowing each employee to determine the compensation components that best satisfy his or her particular needs. Flextime is the practice of permitting employees to choose their own working hours, within certain limitations. Flexible hours are highly valued in today's society, and a flexible work schedule gives employers an edge in recruiting new employees and retaining highly qualified ones. 

Diff: 3

Chapter:  10

Skill:  Synthesis

LO:  7, 10

8) In a brief essay, discuss the components of nonfinancial compensation and how these factors affect employee job satisfaction.

Answer:  Historically, compensation departments in organizations have not dealt with nonfinancial factors. However, the new compensation model suggests that this is changing. The components of nonfinancial compensation consist of the job itself and the job environment. A number of work arrangements are included in this environment. These arrangements provide for greater work–life balance resulting in a more desirable life for employees. Employees can draw satisfaction from their work through several nonfinancial factors, including sound policies, capable managers, competent employees, congenial co-workers, and appropriate status symbols. 

Diff: 3

Chapter:  10

Skill:  Synthesis

LO:  8

9) What led to the passage of ERISA? What impact has ERISA had on communicating benefits information with employees?

Answer:  The Employee Retirement Income Security Act (ERISA) of 1974 strengthens existing and future retirement programs. Mismanagement of retirement funds was the primary spur for this legislation. Many employees were entering retirement only to find that the retirement income they had counted on was not available. The Act's intent was to ensure that when employees retire, they receive deserved pensions. ERISA provides a reason for communicating information about a firm's benefits program. This Act requires organizations with a pension or profit-sharing plan to provide employees with specific data at specified times. The Act further mandates that the information be presented in an understandable manner. To improve the employee experience and cut costs, more HR departments rely on one or more technologies to get benefits information to employees. 

Diff: 3

Chapter:  10

Skill:  Synthesis

LO:  4, 8

10) What is a defined benefit plan? What legislation has been enacted related to these retirement plans?

Answer:  A defined benefit plan is a formal retirement plan that provides the participant with a fixed benefit upon retirement. Although defined benefit formulas vary, they are typically based on the participant's final years' average salary and years of service. Plans that are considered generous provide pensions equivalent to 50–80 percent of an employee's final earnings. Use of defined benefit plans has declined in recent years. However, many workers lost considerable money in their 401(k)s during the recession of 2008/10, causing them to have more faith in defined benefit plans. The Pension Protection Act made a large number of reforms to U.S. pension plan laws and regulations. This law made several pension provisions in the Economic Growth and Tax Relief Reconciliation Act of 2001 permanent, including increased IRA contribution limits and increased salary deferral contribution limits to a 401(k). It also attempts to strengthen pension systems and reduce reliance on the federal pension system and the Pension Benefit Guaranty Corporation (PBGC). The act seeks to ensure that employers make greater contributions to their pension funds, ensuring pension fund solvency and avoiding a potential multibillion-dollar taxpayer bailout of the PBGC. One of the long-term requirements of the act is for pensions to be fully funded in by 2013.

Diff: 3

Chapter:  10

Skill:  Synthesis

LO:  4
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